Flexible Spending Plans, Part 1
Read all of the questions very carefully!

The following information on income tax is from the IRS website:

Schedule Y-1 — Married Filing Jointly or Qualifying Widow(er)

	If taxable income is over--
	But not over--
	The tax is:

	$0
	$16,750
	10% of the amount over $0

	$16,750
	$68,000
	$1,675.00 plus 15% of the amount over 16,750

	$68,000
	$137,300
	$9,362.50 plus 25% of the amount over 68,000

	$137,300
	$209,250
	$26,687.50 plus 28% of the amount over 137,300

	$209,250
	$373,650
	$46,833.50 plus 33% of the amount over 209,250

	$373,650
	no limit
	$101,085.50 plus 35% of the amount over 373,650


1. Calculate the income tax paid by the couples below whose joint income is given below.  Show your work!
	$140,000 (The Does)


	$46,000 (The Smiths)




2. One way to reduce taxes is to put money into an Individual Retirement Account (IRA).  Suppose the Does and the Smiths each put $3000 into an IRA.  This amount is then deducted from their income before the taxes are calculated (this is called “tax deductible”).  Calculate the amount that the Does and Smiths each save on their taxes.  Show your work!
	Does:


	Smiths:


The following information is posted on the FLC website for employees:

Based on this information, answer the following questions.  All answers should be in your own words and not taken verbatim from the information above.
3. What types of expenses could a Flexible Spending Account be used for?
4. How does an employee get reimbursed for these expenses?
5. Where does the money for this account come from?
6. What happens if there is money in the account at the end of the year?

7. Sara is an employee who chooses to have $150 deducted each month for a Flexible Spending Account.  She has $1600 total in eligible expenses for the year.  
a. At the end of the year, how much has been put into the Flexible Spending Account?  
b. How much gets reimbursed back to Sara?  
c. Is there a difference between the two amounts?  
d. If so, what is it and what happens to it?
8. Sara (the employee from #7) has an annual income of $70,000.  Using the tax table from the previous page, calculate how much she saves in taxes by putting $150/month into this account (which means the money is deducted from income before taxes are calculated).  Overall, was Sara better off by having the account?  Be sure to refer back to your calculations for #7 and justify your answer. 
Flexible Spending Accounts


 


Employees have the option of establishing a Flexible Spending Account for out-of-pocket expenses for qualifying health care or dependent care.  To take advantage of this pre-tax benefit, employees establish an amount that will be deducted from each monthly paycheck.  


 


Throughout the plan year, employees submit receipts for qualifying health care and/or dependent care to the administrator of the plan for reimbursement.


 


This is a “use it or lose it” account.  If a balance remains in the account at the end of the plan year and cannot be reimbursed to the employee, the balance is forfeited.  


 


If employees take advantage of this tax break, they are not allowed to claim the expenses when filing that year’s income tax returns.











